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ECON 520: Intermediate Microeconomics
Problem Set 1
Solutions

Professor D. Weisman
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2) Price falls upon shift out of supply curve.
3) Reducing price with inelastic demand causes total revenue to fall
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a) Another point on the linear demand curve is 
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The demand curve is of the general linear form, 
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b) The linear supply curve has the general form
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We are given that 
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[image: image36.wmf] cigaretts and beer are substitutes

.

b) At 
[image: image37.wmf]4

C

p

=

 and 
[image: image38.wmf]2

B

p

=


(10) 
[image: image39.wmf](

)

(

)

16241210

C

Q

=-+=


(11) 
[image: image40.wmf](

)

4

20.8

10

CC

p

CC

Qp

pQ

e

D

æö

=×=-=-

ç÷

D

èø


(12) 
[image: image41.wmf](

)

2

10.2

10

CB

CB

BC

Qp

pQ

e

-

D

æö

=×==

ç÷

D

èø


c)

 
[image: image42.wmf](

)

(

)

(

)

(

)

%%%

0.820%0.210%

16%2%

18%

CCB

pCB

Qpp

ee

-

D=D+D

=-+-

=--

=-


Hence, the demand for cigarettes is expected to fall by approximately 18%

Note: We can calculate the change in demand directly in this problem by simulating the price changes.
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4. Outline for Answer

1) Assume that the city council is considering price ceiling to make consumers better off (i.e., increase consumers’ surplus)

2) From the text and in-class discussions, we know that a price ceiling below the market equilibrium price will (unambiguously) increase consumers’ surplus only when supply is perfectly inelastic.

3) The fact that the Manhattan Builders Association is strongly opposed to this policy suggests that they believe would-be apartment owners will cut back supply in response to a price ceiling set below the market equilibrium price. In other words, supply is not perfectly inelastic.

4) When supply is not perfectly inelastic, it is unclear (absent additional information on demand and supply) that the imposition of price ceilings on rental units will serve to increase consumers’ surplus, ceteris paribus. 
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